
Formulaire trigonométrique

Pour tout x reel on a : cos x+sin x=l ;cos(x+2kn )=cosx et sin(x+2kn )=sinx

sin% ]
Pour tout x #û+kn(kez) on a : tgx= —- et l+tg2x=

COS X
2

COS X

Pour tout xÿkn(keZ)on a : cotgx=
COS X 2 1

et 1+cotg x=
sinx

2
sin x

cos-x=cosx

sin-x=-sinx

tg-x=-tgx

cotg-x=-cotgx

cos( n -x)=-cosx

sin(n -x)=sinx

tg(n-x)=-tgx

cotg(n -x)=-cotgx

cos( n +x)=-cosx

sin(n +x)=-sinx

tg(n +x)=tgx

cotg(n +x)=cotgx

cos(ÿ-x)=sinx
sin(ÿ-x)=cosx

tg(ÿ-x)=cotgx
cotg(û-x)=tgx

cos(û +x)=-sinx

sin(ÿ +x)=cosx

tg(û +x)=-cotgx

cotg(û+x)=-tgx

cos(x+y)=cosxcosy-sinxsiny

cos(x-y)=cosxcosy+sinxsiny

sin(x+y)=sinxcosy+cosxsiny

sin(x+y)=sinxcosy+cosxsiny

tg(x+y)=,S?±ar
1-tgxtgy

tg(x-y)=1 1+tgxtgy

cos x=

sin2x=

1+ cos 2x

2

1- cos 2x

sin2x=2sinxcosx
2tgx

tg2x=
2

1-tg x

acosx+bsinx=rcos(x- 0 )
[2 2

Avec r=Ja +b

a
cos 9 =-

r

n b
sin0 = —

r
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(ceaima en abscisse)

cosxcosy=1[cos(x+y)+cos(x-y)]

sinxsiny=1[cos(x-y)-cos(x+y)]

sinxcosy==1[sin(x+y)+sin(x-y)]

p + q p — q
cosp+cosq=2cos-cos-

2 2

p + q p — q
cosp-cosq=-2sin-sin-

2 2

. p + q p-q
sinp+sinq=2sin-cos-

2 2




